Figure 1. Three-person connected networks
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A line segment between any two types represents that they are connected and the arrowhead points to the agent whose action can be observed.



Figure 2A. Herd behavior, turn by turn, in the different networks.
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Figure 2B. Herd behavior, turn by turn, under the different information structures.
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Figure 3A. Actual and private-information efficiencies in all networks.
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Figure 3B. Actual and private-information efficiencies in each information treatment
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Figure 4. The beta time-series in the each network
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Figure 5. Predicted logit choice probabilities and nonparametric choice probabilities

Complete network and Star network (type A) at the second turn
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Fiqure 5 (cont.)

Circle network and Star network (types B and C) at the second turn
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Fiqure 5 (cont.)

Type A in the Star network turns three to six
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Fiqure 5 (cont.)

Types B and C in the Star network turns three to six

Trps PO n B Fetwwt amde Fall b 1= 3, Betn = 350, B = (L8
i

5 i

m {
o W

A8 - [T [ (1]
T TR

Trps PO n B Fetwwt amde Pall b = 4, Betn = 306, B = (L8
i =

18

§ - A% a [
Fopes il wtttp Al v

Typs Bl i Bl o Hvbwost am i Pall i i = 8, Bt = 2801, B = L3
i ——

-5 -1 A% a [ 1 18
Fopes il wtttp Al v

Tres B0 n B Fetwwt amde Pall bl 1= 0, Beta = 30T, B = (L8
1 —

1§ - A% a [ i 18
Fopes il wtttp Al v

L] L]
(4] (4]
oy oy
i i
L L
! LH] ! LH]
€ €
Jos J na
'ﬂ o3 'ﬂ o3
[ ¥ [ ¥
i ai
phezer= ) L P L
A8 - [T [ (1] 1 1§ A8 - [T [ (1] 1 1§
Fope e sl b ¢ T TR

Wipa A0 & S Hetwors ascion g it 1= 1, Beta = 210, By 036
i

Fype B i Btet Mervoo vt L ke £ 3, Bt = 270, = 04
i

Wipa A0 S Mot aschon g i 1= 4, Beta = 29, By 035
i

Fype B i St Mervoo vt L ke £ 4, Bt = 273, = 004
i

-1 A% a [ i 18
[P T ——_

Tipa B i Siw Hrbwortc asckos gl i, 1= 1, Bl = 3 1G, Bov= G384
i = -

o
(4]
. Y/

N TR R ]

Fopes il wtttp Al v

Bype B i Bt i vier Lo bl 8, Beinm 21, = 03
i

-5 -1 A% a [ 1 18
[P T ——_

Wi A0 & S Hetwors aschon g i 1= i, Beta = 18D, By 036
i

-5 -1 A% a [ 1 18
Fopes il wtttp Al v

Fype B St Mervoo vt L ke £ =, Bt = 2.1, Ber= 004
i

1§ - A% a [ i 18
[P T ——_

1§ - A% a [ i 18
Fopes il wtttp Al v





